: ‘ Volume and Surface Area of Cones

=== é\REVISE THIS
TOPIC

1 The diagram shows a cone.

11cm

The radius of the cone is 4 cm and the perpendicular height of the cone is 11 cm.

Work out the volume of the cone.
Give your answer to 1 decimal place.

% xT0x 4 x 1 = 184306364
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2 The diagram shows a cone.
_1 5
Volume of a cone = 37 h

A Curved surface area of cone = zrl

13cm
12 cm

(a) Work out the volume of the cone.
Give your answer to 1 decimal place.

22 x 0% 5 x |L= 3141592654

3t -1

) Give your answer 101 docial place, )
TUx S x 13 = 1042015215
Tx S* = $3-5148163%
104 2.+ 3%-S.. = 1R 7-F41328%
8L+

(Total for Question 2 is 5 marks)
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3 The diagram shows a cone.
I
Volume of a cone = 37 h

Curved surface area of cone = nrl

8cm

(a) Work out the volume of the cone.
Give your answer to 1 decimal place.

% 10 x b x § = 201-S92394

W6 .

(b) Work out the total surface area of the cone.
Give your answer to 1 decimal place.

x bx 0= '8 4955592
WX b*= \113-093335%5

\3%-44... 4+ 1L0a.. = TO\ 91184}

W0V 6 .

(Total for Question 3 is 5 marks)
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4 The diagram shows a cone.
_1 5
Volume of a cone = 37 h

Curved surface area of cone = nrl

15cm

(a) Work out the volume of the cone.
Give your answer to 1 decimal place.

‘/’3, x TU X %lx 1IS= 1005 1096494

\00S-3% .

(b) Work out the total surface area of the cone.
Give your answer to 1 decimal place.

Lx & k1 = 423 1S G009
Tx® = W\- 0619298

L1r-1 ..+ 10...= 628-218S5%0F

618 3

(Total for Question 4 is 5 marks)

cm?
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5 The diagram shows a cone.

hcm

The volume of the cone is 3000 cm3

Work out the value of h, the height of the cone.
Give your answer to 1 decimal place.

% %10 x 12%%x\h = 3000
48w = 2000
h= 3000
4§
h= \a. 4% 16344

h= \qq

(Total for Question 5 is 3 marks)

cm
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6 The diagram shows a cone.

hcm

The volume of the cone is 90 cm3

Work out the value of h, the height of the cone.
Give your answer to 1 decimal place.

2 x 16 x ¥ xlh = 90

\brh - 90
!
lbTth= 230
W= 130
|6TC
b= S 3HYITA

h= 5("' cm

(Total for Question 6 is 3 marks)
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7 The diagram shows a cone.

8.5¢cm

Pl
|

The volume of the cone is 120 cm3

Work out the value of r, the radius of the base of the cone.
Give your answer to 1 decimal place.

x T x¢*x ¥S =10
(Iir =120
6
\FTT " =310
rt o= 3'_1,_2
=%
== |2-43l...
=13 481
= 13- 63 bAHY

i

S 5 S

(Total for Question 7 is 4 marks)
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